x> - (a+5)x-2a+6=0 29
A% a o] 3 Fotolet

0] 23 cos 30° & o,

2 2ol 2v3x 2 —3olmz
x ] ol s
9-(a+5)%x3-2a+6=0
—-5a =0

a=0 9|t}




1
2. /x=60°¢ o, <§ —sinx> (1 + tanx) ©] 3F2?

-2 @-1 ®o0 @ 1 ® 2

B

sin 60° = \/;  tan60° = V3 olB.&2

2
(1-V3)(1+ V3)

(4) = %—i§> 1+ V)




OV 32— VB +3=0 9 F 2L tana, 2 L], 0
an o

o] 3715 BT FotoEt. (H, 0° < a < 90°)

> E: °
> E: 2
> HE 30°
> HE 602

3x2—4V3x+3=02 =W x= V3 EL o|t},

ebA tane = V3 ELE tana =

T 60° o]t}




ok el A4 PT 7H 9 0 o A4 ), o] 9o] 5L 73
ofet,

/APT = /PBA = /PB’A = 30° | B2
PA 4

sin 30° =
____ BP BP
BP=8




oS 24 LA = 60°, BC = 6cm &

A
ul, 9149 O o BHAlE ] Lol
60°
@ 3cm @ 4cm O.
® V3cm @)2+/3cm
BX=C —~/C
® 3v3cm ~--gem -~

27} Zo] A'B 7} A8o] HES 9F o] 4 A 2 F1
HFR] 22 o]t 5 /A = /A = 60°( BFZ)
sin A’ = E = §

%r r




ohe 24 /ABC = /BCD = 90°, /BAC = 60° , /BDC = 45°,
AB= V3¢,
BD2 9] gk2?

@ 5 @ 9 ® 12 @ 15 ®)18

74479 ABC 14 2= = tan60° = V3 022 BO =3




th& 18 2ol LA =60°, AB =
5cm , AC = 9cm €1 AABC 9|4l BC
o] 7o]E Fatofet,

>
> Hel V61 em

BH:5sin60°:5x\/7§=%§(cm)
ﬁ:5c0560°:5x—:§(cm)
5 1
CH—Q—E—?(CHI)
2
— 5V3 (13)2
BC =/ 22 i
o= /(38) + (&
_ [T, 1
- 4 4
244




8. o2 199 AABC oA AABH 92| Zo]=?

!Ilii“lo\
BE 5 ¢

RN
© 5-2V3+ V37 @)5+2V3+ V37
® 5+2V3- V37 @ 5+3V2+ V37

® 6+2V3+ V37

B

AH = 10sin30°=5
BH=7v3-CH=7V3-10c0s30° = 23

AB = /52 + (2V3)2 = V37

w2tA AABH E89] ZolE 5+ 2v3 4 V37 ot




9.

th2 283 -2 AABC 2] Yol7} 80V3em? ¢ w, AC 9] Zol&

ERieE
A
60°
B\\ // C
T---40cm--—"
D 8V19cm (@)SMcm ® 9v19cm
@ 9+v21cm ® 9v23cm

x AB x BC x sin 60° = 80 V3

%xﬁx40x\/7§:80\/§

—  80V3 _

AC = \/(4v3)" + 362
= VA48 + 1296 = /1344
=821 (cm)

B& C

/A
s4em” ~-36cm--77
- 40cm--"




10. thg ZRelA ARG HEe] Yol
(&, PA, PB & €10 9 54)

D6v3 @ 9v3 B 12V3
@18«/5 ® 202

B ~

APAO = APBO °©|E 2 PA = PB
(A =90° o|B &2
PA=V92-32=6V2

1
APAO:6\/§><3><§:9\/§

- OPBOA = 9v2x 2 =182




11, ohg T93 ol 315
Q1 A% gtell € 0 o

of ol Fofofet.

>
[> ®Eh: 167 cm?

OE=0A=12(cm), OC=0OE = x 0O’
o3 5

00 =12-x

1:2=x:(12-x)

2x=12—-x

3x =12

. x=4 (cm)

wrebA] Gol= 4 x4 x = 167 (cm?) ©|th,




12, o= F I 2x + 2y + 2z & F5Hf=h

[ 2
> =g 255°

(1) /ACT = /ABC = 30° °]B& /x =60°
(ii) BDE 199 /CBD =15°

OABDE ©f| A

(ABD + /AED = 180°

Ly + /7 =180°+15°=195°

" /x+ Ly+ lz=060°+195° = 255°




